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T 4 | A p 7 P mpoT 4 | H R 7 % = w7 4 | A K %A % = 3 I A | 8 %A 7 P
B\ 1T H 264 276 301 577|F » WEHT5 T H 544 572 557 1,129 BT 7 T H 1,291 1,604 1,437 3,041 |[# AHT3 T H 220 259 234 493
B W 2T H 369 374 387 761 | 4~ WEHT6 T H 392 393 418 8I1|%r W 8 T H 553 660 629 1,289/ | 4,668 5,138 5,154| 10,292
B W 3T H 290 331 329 660 =t 9,583 10,206| 10,094 20,300|%r BT 9 T H 1,271 1,334 1,158 2,492 " {R%E1TH 96 101 100 201
1T A 152 145 149 294 |1k e 601 656 663 1,319|K BT 1 T H 114 97 102 19| —&RE27T H 335 378 387 765
2 T A 96 78 76 154(8 E BT 1 T H 323 402 380 782|K S BT 2 T H 500 541 521 1,062| ~{RE3 T H 277 301 319 620
7 e 3T A 130 154 173 327|% L ET2 T H 606 656 658 1,314 =t 9,436| 10,738 9,809| 20,547 %24 T H 125 117 124 241
£ L HT 278 251 269 520|%F L BT 3 T H 1, 549 1,479 1,436 2,915 {0 BT 1 T H 815 863 852 1,715| =R E5T H 92 109 102 211
%S My 442 429 432 861(% L M7 4 T H 758 770 727 1,497 {30 BT 2 T H 307 371 334 705\ 1 T H 70 61 72 133
fip T 206 203 211 414\ M 1 T H 800 914 838 1,752 (] J0 BT 3 T H 247 268 269 537 # 2 T H 117 126 124 250
s My 135 112 125 237|x M 2 T H 333 388 412 8003 34 M 4 T H 772 721 707 1,428k # 3 T H 121 122 108 230
& K Wy 178 213 206 49|k M 3 T H 747 872 900 1,772 S0 BT 5 T H 740 737 728 1,465 & A HT 171 155 182 337
#o1m My 423 423 448 871 |4 A 471 449 517 966 |3 32 M6 T H 1,224 1,271 1,269 2,540t & 1 T H 53 43 42 85
X 7 WA Wy 489 519 509 1,028|4 g 457 525 540 1,065{r D BT 7 T H 1,127 1,036 1,135 2,171|# & 2 T H 65 63 64 127
wWw o/ b HT 299 283 297 580| KB N1 T H 283 323 321 644 L BT 8 T H 807 862 722 1,684 & (L 42 62 67 129
KB HT 515 532 536 1,068| K % T 2 T H 265 346 337 6833 L M9 T H 953 817 946 1, 763 |/ G 1,564 1,638 1, 691 3, 329
HimFnMELT H 197 193 208 40114 sF 1 T H 578 787 742 1,529 (fl iB BT 10 T H 944 786 788 1,574|% [ 1 T H 317 245 257 502
HimFnmE2T H 253 265 274 539|145 ¢ 2 T H 145 201 195 396 7t 7,936 7, 732 7,750| 15,482|= [ 2 T H 88 92 88 180
HimF1ME3T H 298 357 346 70314 S 3 T H 379 507 447 954k & L T H 189 198 215 413|% [ 3 T H 203 155 143 298
it 5,014 5, 138 5,276| 10,4144 ¢ 4 T H 613 761 720 1,481k #& 2 T H 1, 049 1,291 1,228 2,519/ K1T H 96 112 93 205
B AR®T 1T H 226 261 261 522|4 ¢ 5 T H 513 628 657 1,285/ # 3 T H 368 419 430 849|/h & K277 H 43 51 49 100
) ARBT2T H 355 388 370 758 E 9,421 10,664| 10,490 21,154|4 #H 1 T H 1,391 1, 466 1,493 2,959/ K37 H 172 188 206 394
B K BT 3T H 209 248 254 502|% F M1 T H 484 431 501 932|145 H 2 T H 1, 064 1,087 1, 158 2,245/ K4T B 218 157 219 376
E W 1T H 686 645 662 L30T H #ME2 T H 819 771 789 1,560(4 3 T H 885 968 910 1,878|/h& A5T H 77 78 87 165
E W 2T H 743 835 849 1,684 & #E 3 T H 1,118 1,085 1,126 2,211|5 # 4 T H 0 0 0 OJE W1 T H 262 168 233 401
E W 3T H 402 497 486 983[ F M4 T H 784 690 684 1,374/ #H 5 T H 173 59 147 206(% W 2T H 250 276 263 539
E W4T H 786 786 894 1,680 # #E 5 T H 1,032 948 1,001 1, 949 E 5,119 5, 488 5,681 11,069|H R 3 T H 233 179 199 378
E W5 T H 535 516 541 1,057 |3 #H #E 6 T H 389 424 401 825|/Is & 54,428| 57,582 56,813| 114,395|/ 1,959 1,701 1,837 3, 538
E W 6 T H 229 223 257 4801k » 4 1 T H 397 408 413 g21/m 1 T H 346 400 359 59| K 1 T H 214 165 228 393
E W 7T H 486 499 431 930tk » M 2 T H 780 643 770 L4134/ 2 T H 416 448 463 91|k A 2 T H 221 220 163 383
E W 8 T H 276 301 292 593 |ffi [ BT 1 T H 337 403 384 787/ 3 T H 459 516 495 1,011 |p A 3 T H 102 120 109 229
E W9 T H 4 4 4 8|fifi [ BT 2 T H 743 817 803 1,620(Fn HET1 T H 208 234 232 466|pk A 4 T H 62 56 49 105
K HEET1T H 316 336 324 660|Fifi [d BT 3 T H 594 601 549 1, 150 Fn H BT 2 T H 289 299 329 628|pk A 5 T H 79 72 68 140
K HEET2T H 332 299 297 596 i [ B 4 T H 442 395 392 87\ME A8 1 T B 167 209 195 404|pk A 6 T H 36 43 38 81
K HET3T H 358 413 364 777 Rl 7,919 7,616 7,813 15,429|#F 4% 2 T H 178 189 222 411|f A7 T H 66 72 74 146
K HBTAT H 308 370 356 726|% BT 1 T H 1,217 1,413 1, 308 2,721 (M # 3 T H 192 223 206 429\ A 8 T H 91 106 83 189
K HHET5 T H 305 343 349 692|%1 BT 2 T H 853 960 862 1,822|#F %6 4 T H 232 265 247 512|/ G 871 854 812 1, 666
T WEHT L T H 653 698 703 1,401|% BT 3 T H 1, 555 1,651 1, 495 3,146 (#E # 5 T H 534 641 656 1,297 | 8% BT & &t 9, 062 9,331 9,494 18,825
T WEHT2 T H 551 583 581 L,164|%¥ BT 4 T H 730 789 792 1,581 4 %6 6 T H 549 634 579 1,213|& #t 63,490 66,913| 66,307 133,220
T WEHT3 T H 407 491 421 912(%r BT 5 T H 1,253 1, 567 1, 386 2,953 |4 AR BT 1T H 370 411 403 814
T WEHT4 T H 480 505 423 928(%r BT 6 T H 99 122 119 241|#h AR BT 2 T H 508 410 534 944




